[ Efficiency vs vertpos |
0.8

0.5 L l ++

etticiency vs vert r
o
D
e
. 4%7... P
-

Ratio

1072 107 1 10 0?
TP vertr (cm
— _mKFIL_TToriginal
—e— DOM_mkFit_TTNEWnoMS-genMatch-CUT2
Efficiend —— DQM_mKFit_TToriginal-106
—— DOM_mkFit TTNEWMS-genMatch-CUT2

1.2

N

N 12
T

(g 1__ .......... L
> -

CIC) F : : : : :
§ 0Bt
t | . . . . .
(]

Ratio

=30 -20 -10 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
0.8

0.7

0.6

0.5

0.4

efficiency vs Sim. PV z

0.3

0.2

Ratio

10 15 20
Sim. PV z (cm)



	Contents
	Page 1


